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(a)

=025 [0]

(b)

7=1.00 [O]

(c)

7=10.50 [O]

(d)

T =4.00 [O]
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(a)

ws = 4 [rad/0 ]

(b)

ws =7 [rad/0 |

(c)

ws = 87 [rad/0 ]

(d)

ws = 7/2 [rad/0 |
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(a) (b)
flil={o0, 1, 4, 9, 16} flil = {0, 4, 16, 36, 64}
(c) (d)
f[Z] - f[Z] - {07 1/47 L, 9/47 4}
{0, 1/4, 1/16, 1/36, 1/64}
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(a) (b)

5 [Hz] 5m [Hz]

(c) (d)

10 [Hz] 107 [Hz]
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(a) (b)
f'li] = {0.0, 1.0, 2.0, 0.0} f'li] = {0.0, 0.0, 3.0, 0.0}
(c) (d)

#li] = {0.0, 2.0, 3.0, 1.0} #li] = {0.0, 1.5, 2.5, 0.5}
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(a)

/0000 300000

(b)

/0000 700000

(c)

/0000 800000

(d)

/0000 200000




